Elevator Problems

1. A ball, m = 2 kg, is suspended from a string in an elevator that is accelerating upward at 2 m/ss.  Find the tension in the string.
2. Same as #1, but elevator is accelerating downward at 2 m/ss.  
3. Same as #1, but elevator is accelerating downward at 9.8 m/ss.  

4. A boy, m = 25 kg, is standing on a bathroom scale in an elevator accelerating upward at 3 m/ss.  What is the reading on the scale?
5. Now the boy stands on the scale and the scale reads 195 N.  What is the acceleration of the elevator?

6. Our poor 25 kg boy is standing in the elevator on the ground floor.  The elevator starts upward and the scale reads 300 N for 5 sec.  Then the scale reads 245 N for 4 sec.  Finally, the scale reads 190 N for another 5 sec.  The elevator is now at rest and the boy finds himself on the 29th floor. How high up is he? (hint: find a for each part of the trip and the distance traveled in each part)

7. An elevator has a mass of 500 k6.  What must be the tension in the cable to produce an acceleration of 2.5 m/ss?
